Kinn

E2LAE! HAIS TRI0] Qi B HEQ| AR E2 ARIZA O
HA Z2iR|, LIA 2 E
=3 dY/HIE o[o] x|

MO
=

HE &Y. o
QA EHXME 5H Bo2 Qs HF fIXI7H HESHE WS YKIsH
0

Olse &= JU&LICH 23 A 1d10 H N =
X|5t7| 2IshMH= Et CPE O|&35Hof &Lt

LIAF & 22 S8l Ax| Zo[7} HefetHA 7|& 7+ 2 LR[t2=E
AEH7L EHE gisLct

VR

AR T

LA €2I2 & &= E, A Y.

AEQRIZ|A AEl H{A:
LIAb &2/ & &2 E1.4305.

HA™ O, AotAd K|
EM OlF2]:
AR T

LEAb 22|12, 4 &5t %E|
Ha E, St AMEl, ook W A akst * 2l

AE|RIE|

[>
A

AR HT:

HH.:
LA B B xlE Mo R(AR) M85 23T Eajotnls 2
o||__|

AL

S5 A A,

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
=3IAEIH{AIS Oli= S O] AEI =2 A
S2tAE HAE JRl0] Q= M2 88| A8 =2 AH|QlA ol
CllA = X1 XS
SiA SEA, LI EE XE
(=t}
]
D2 D2
! ]
| - A -
1 I
Y Swi ! SW1
~| ' < 5 -
- . A '
~ -~
—"—.—!--v— LL -—"—Ll--v- LL'
| ISP | L 1o : v
A ! l A ' A
-0,02 -0,02
D 004 1| |1 D5 el Lk
D1 | | D1
g5
oleiA ZRIM B2 ALY, LIAL &S E 8
FEUHS =X Ha Bl D D1 D2 L L1L2 AEE3 SW1 Fx30° N By
S =R 3
F12%5N F29.N
K1097.95903 PN AP 3 M6x075 14 255 6 5 35 8 08 4 10
K1097.95004 A& AP 4 M8x1 18 295 6 6 4 10 1 4 12
K1097.95105 e AP 5  M10x1 21 345 8 7 5 13 1,3 5 12
K1097.95206 A& AP 6 MI12x1,5 25 417 10 8 6 14 1.8 6 14
K1097.95308 A& AP 8 M16x1,5 33 54 12 10 8 19 2,3 14 28
K1097.95410 e AP 10 M20x1,5 33 61 15 12 10 22 2,8 15 32
K1097.195903 LE|QlEA AR AP 3 M6x075 14 255 6 5 35 8 08 4 10
K1097.195004 AE|QlEA AR AP 4 M8x1 18 295 6 6 4 10 1 4 12
K1097.195105 AE|QlEA AR AP 5  M10x1 21 345 8 7 5 13 1.3 5 12
K1097.195206 LE|QlEA AR AP 6 MI12x1,5 25 417 10 8 6 14 1.8 6 14
K1097.195308 AE|QlEA AR AP 8 M16x1,5 33 54 12 10 8 19 2,3 14 28
K1097.195410 AE[QlEA AR AP 10 M20x1,5 33 61 15 12 10 22 2,8 15 32
K1097.97903 A& CP 3 M6x075 14 255 6 5 35 8 08 4 10
K1097.97004 A& CP 4 M8x1 18 295 6 6 4 10 1 4 12
K1097.97105 N CP 5 M10x1 21 345 8 7 5 13 1.3 5 12
K1097.97206 A& CP 6 Mi2x15 25 417 10 8 6 14 1,8 6 14
K1097.97308 A& CP 8 M16x1,5 33 54 1210 8 19 2,3 14 28
K1097.97410 e CP 10 M20x1,5 33 61 15 12 10 22 2,8 15 32
K1097.197903 LE[QlEA AR CP 3 M6x075 14 255 6 5 35 8 08 4 10
K1097.197004 AE|QlEA AR CP 4 M8x1 18 295 6 6 4 10 1 4 12
K1097.197105 LE|QlEA AR CP 5 M10x1 21 345 8 7 5 13 1,3 5 12
K1097.197206 AHQIEA AR CP 6 Mi2x15 25 417 10 8 6 14 1.8 6 14
K1097.197308 AE|QlEA AR CP 8 M16x1,5 33 54 12 10 8 19 2,3 14 28
K1097.197410 AE[QlEA AR CP_ 10 M20x1,5 33 61 15 12 10 22 2,8 15 32

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



